1.  Cheese consumption in the United States was 28.0 pound per person in 1997.  Figures for last year’s cheese consumption are given below.  At the .10 confidence level, has per capita cheese consumption in the U. S. increased since 1997.  (Assume that σ = 6.9 pounds.)
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2. The FBI reports that purse snatching in 1998 resulted in a mean loss per victim of $362.  A random sample of twelve victims of purse snatching victims in the current year is surveyed.  The sample mean loss is $314.10 and the sample standard deviation is $86.90.  At the 0.05 level, can we assert that the mean loss for purse snatching victims has decreased since 1998?  

3. According to Nielsen Media Research, in 1998, during the time slot from 8:00 PM to 11:00 PM, the average person watched 7 hours and 43 minutes of TV per week.  A random sample of 40 women, age 18 – 24, reveals that their mean viewing time during the time slot from 8:00 PM to 11:00 PM was 343.25 minutes with a sample standard deviation of 222.2 minutes.  At the 0.05 level, does the sample indicate that women in the 18 – 24 age group spend less time than the average person watching TV in this time slot?

4.  The table that follows gives the distribution of the maximum wind speed of 1,293 tornadoes.  Using a 0.01 level of significance, test the hypothesis that 50% of the population of tornadoes has wind speeds less than 72 mph.

	Wind Speed
	 
	Number

	< 72
	
	696

	73 to 112
	
	411

	113 to 157
	
	129

	158 to 206
	
	43

	207 to 260
	
	13

	260 to 319
	
	1


5.  A computer systems engineer has researched data for e-mail messages handled by a particular server in a single weekday.  The data from a sample of 22 randomly selected weekdays indicates that the sample mean number of e-mails per day was 41354.136.   The sample standard deviation was 7912.235 e-mails per day.  At the 0.05 level of confidence, does that data indicate that the population standard deviation is no greater than 5000 e-mails per weekday? 

